INSTRUCTION MANUAL

Panasonic
Rectangular Head Fiber

[ Thru-beam type fiber| [ Reflective type fiber |
FT-Zo FD-Zo, FD-Lo
MJEC-FTZ30 No.0096-95V

Thank you very much for purchasing Panasonic products. Please read
this Instruction Manual carefully and thoroughly for the correct and opti-
mum use of this product. Kindly keep this manual in a convenient place
for quick reference.

e For the connecting method of the fiber attachment, refer to the In-
struction Manual attached to the fiber attachment.

e Also read “Instruction Manual of General-purpose Fiber Head”
carefully and thoroughly for the correct and optimum use.

El MOUNTING

e Mount the fiber head by using the enclosed set of screws. The tight-
ening torque should be 0.15N-m or less (FT-Z40o, FD-Z40o: 0.3N'm
or less).

e |f the fiber head is mounted in places subject to vibrations or shocks,
use a screw-locking adhesive, etc.

e Mount each fiber head as shown below.

FT-Z230, FT-Z30W (Front sensing type)

< In case of tapping the> < In case of using screw>
mounting section and nut (accessory)

° — - Slensilng Slensi.ng
\ direction direction
CHC) N M2 (length 8mm)

\\ screw (Accessory) Mounting plate

M2 x 0.4mm tap depth 7mm or more thickness
3.5mm or less

7.5mm

Nut, Spring washer, Washer,

Note: The emitter and receiver are symmetric.

FT-Z30E, FT-Z30EW (Side sensing type)

< In case of tapping the> < In case of using screw>
mounting section and nut (accessory)

Nut, Spring washer, Washer
Al

Sensing - 75
direction mm

M2 (length 10mm)
screw (Accessory)

M2 x 0.4mm tap depth 7.5mm or more
Mounting plate thickness 4mm or less,

FT-Z30H, FT-Z30HW (Top sensing type)

< In case of tapping the > < In case of using screw>
mounting section and nut (accessory)

Nut, Spring washer, Washer

Sensing 6
direction @ \ M2 (length 10mm)
\% N\ screw (Accessory)

M2 x 0.4mm tap depth 7.5mm or more
Mounting plate thickness 4mm or less|

FT-Z20W, FD-Z20W (Front sensing type)

< In case of tapping the> < In case of using screw>
mounting section and nut (accessory)

M2 (length 8mm) screw (Accessory) Nut, Spring washer, Washer

Sensing
-

direction
> Boss

Sensing
- direction
Boss

21.6mm hole depth 0.6mm or more

M2 x 0.4mm tap depth 8mm or more

Mounting plate thickness 4mm or less|

Notes: 1) The upper figure is for FT-Z20W. The mounting method of FD-Z20W is also the same.
2) Fiber heads of the thru-beam type are the same shape. When mounting, take care of posi-
tions of a hole for the M2 screw and a hole for the boss.

FT-Z20HBW, FD-Z20HBW (Top sensing type)

< In case of tapping the> < In case of using screw>
mounting section and nut (accessory)

M2 (length 8mm) screw (Accessory) Nut, Spring washer, Washer

Slensi'ng - ég -
direction
Mounting plate thickness 4mm or less,

Notes: 1) The upper figure is for FT-Z20HBW. The mounting method of FD-Z20HBW is also the same.
2) Fiber heads of the thru-beam type are the same shape. When mounting, take care of posi-
tions of a hole for the M2 screw and a hole for the boss.

FT-Z40W, FD-Z40W (Front sensing type)

M3 pan head screw
(Purchase separately.)

©1.6mm hole depth 0.6mm or more,

M2 x 0.4mm tap depth 8mm or more

Sensing
direction

Boss

©2.5mm hole depth 1.1mm or more

Notes: 1) The upper figure is for FT-Z40W. The mounting method of FD-Z40W is also the same.
2) Fiber heads of the thru-beam type are the same shape. When mounting, take care of posi-
tions of a hole for the M3 screw and a hole for the boss.

FT-Z40OHBW, FD-Z40HBW (Top sensing type)
M3 pan head screw

Sensing - @@ —

direction

©2.5mm hole depth 1.1mm or more

Notes: 1) The upper figure is for FT-Z40HBW. The mounting method of FD-Z40HBW is also the same.
2) Fiber heads of the thru-beam type are the same shape. When mounting, take care of posi-
tions of a hole for the M3 screw and a hole for the boss.

FD-L12W (Fixed-focus reflective type)

e Mount the fiber head using M2 countersunk head screw (purchase
separately). The tightening torque should be 0.15N-m or less.
The hole in which the boss on the bottom face is inserted should be
21.7mm and 0.8mm or more, deep.

M2 countersunk head screw
(Purchase separately.)

@

@1.7mm hole
Depth: 0.8mm or more

Panasonic Industry Co., Ltd.

1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
https://industry.panasonic.com/

[ Please visit our website for inquiries and about our sales network. |
Panasonic Industry Co., Ltd. 2024
April, 2024

PRINTED IN JAPAN

Panasonic
y=E AN N

[BBR 74| | REEIFAN
FT-ZO FD-Z[1. FD-LOI

ZOREWNE, NP Y=y ZHEEBEO EFWEEE b RLE S IE
WET,

TR ORNC Z OB IEEZ L <BBAICRY | EL Rl kT
TR IEES W,

. Z OBEHAFITRINICRE LTS,

e IFANEUH T UIADEFAERIZOVTIK., I74 /130
7O BORIRGBAEZEZ CSBE S,

e TAAZ7A4ANAY FORBZGAEZ I L BHEAITHY., ELL
BRELHAETIHERLCEZL,

1 B R

o T A~y NiE, MHEORLE Yy bEHERHL TR T TS EEN,
ZO L ExOFEOAHT M2k, 0.15N-mBLF (FT-Z400), FD-Z4000 :
0.3N-mbLF) & LTLEE0,

o 77 AN~y NEIRE-ERO L HGHNCIY (1) 5285451%, Alr
o IR EEHEHLTEE N,

o KT 7 AN~y RiE, Fied X HIZHY 1T T 7EEn,

FT-Z30. FT-Z30W (75 v RON%Z 1 )

<me+gru:9«y7> <ﬁl§1ali-'}'~y +§>
05158 ERT 558

= RHAE

M2 (& &8mm)
L (&)

M2 x0.4mm# v FTES7mmLlE

- BHAA

BAFROES
3.5mmLLTF

Ty b NREETES

2

—»{7.5mm

GE1) : BAAERAAE, MHBELYET,
FT-Z30E. FT-Z30EW (41 FON% A 7)

<HxUHlf%ﬂl:9~y7’> <{=J‘E9(ali-')“u I~§>
EYHHE ERY 558
Ty b NrEE TES

@ ITIRDEE
B - 5 4mmET
M mm

@ M2 (] &10mm)

Rl {8
M2 x0.4mm% v FEE7.5mmil L

FT-Z30H. FT-Z30HW (~y FON% 1 )

<Hw)1¢w§m:9‘ﬁ> <HJ§19C--}-"/ w&>
9558 ERT 284
M2(ES10mm) AL (1)  Fv b SrER FES
B 3
o)
&)

7.5mmi=—

M2x0.4mm4 v FRE7.5mmELE Eﬂ?jﬁ”i’g ¢

FT-Z20W. FD-Z20W (7 5y FON%Z 1 )

<H)1U1=ﬂ‘l’%ﬂl:’5‘~yj’> <ﬁl§#§l§~d"y I~’£—>
558 AT 558
M2(RE8mm) 4 L (F/E) FTYbNRER FEE

i e

5mm = R E 5mm
VAN A2

¢ 1.6mm7VRE0.6mmiLE

M2 x 0.4mm% v FRE8mmLlE

RAROES
4mmELF
(E1) : ERISFT-Z20WTY ., FD-Z20WHFELIRY (17535 T,

(x2) : BBEI74F, A—HIKTT . MY F1FHEE. BitR CADRERIAOROMEIC
TEBEEN.

FT-Z20HBW. FD-Z20HBW (N FON% 1 )

<HBIUHH’EM:GIV7’> <ﬁl§hlﬁ-‘)‘v I~§>
U558 ERY 558
M2 (R &8mm) 1 L (F/E) FTY b NRES FES

/

ﬁg« @— 5mm f ° 5mm
VAN -3 F 2

¢ 1.6mmyVEE0.6mmil E BRAHROES
4mmEL T

M2 x 0.4mm#% v FEE8mmLl E

(GX1) : ERIEFT-Z20HBWTY, FD-Z20HBW % & CHY fF 44X T .

G¥2) : BBEI 74/ NF, A—HRTT . MY REERCADRERRAODROMEIC
TEELESL,

FT-Z40W. FD-Z40W (75 v FON%Z 1 )

M3F~_4 L
Gl TRABCEEL. )

7mm = @A E

NOUALNRR
¢2.5mmNEE 1. ImmELE

(GX1) : EEIIFT-Z4OWTT, FD-Z4OWH R LEL Y+ AETY
(X2) : BBEI 741N F. A—MBKRTT . MY+ EEE. RiFRCAORERIBONRDMEIC
TEHECESWL,

FT-ZAOHBW. FD-Z40HBW (N FON% A )
M3+ <t L

¢2.5mmyGES 1. ImmEl b

(X1) : EEIFFT-ZAOHBWTY, FD-Z4OHBWHE LERY 1+ £ TH .
(¥2) : BBE I 7 AN\, A—MRTY. RYMTIEE. RiTRCADRERIAOROLEEIC
THEHEESL,

FD-L12W (R & = 41 5)

e M2V TR BIBRIHAELS LS W) ZHEAL, MM brzix
0.15N-mPA F& LTS ZEW,
Fo, EHORAZFATH/UL ¢ 1.7mm, HEI0.8mmbl E& LT
<TEEWN,

M24 512 L @

<ﬂﬂi§:’ﬁﬁ%>
CEEL,

®1.7mmR 3mm

(R&E0.8mmLl L)

o —_ N N
INFTIZv D A9 AU —kAEH
T571-8506 ABRMFIEMAFFIE1006E M
https://industry.panasonic.com/

<FATINA ZB:AEREO >

TEL : 0120-394-205

2R | FHOIS~128, 13K~ 176(LBHRE. FXRFH. dAEE%R<)
Panasonic Industry Co., Ltd. 2024

2024F4ABFT PRINTED IN JAPAN



Panasonic EEE B
BT

[ Bk | | RESEINAT |

FT-z(J FD-Z[]. FD-L[]

3EF RS M X Panasonici= o

BT, SEEMEILERRRRNEESR., SIEMERL> 8,

BRI ERRBBRERF IS MUEREEH.

o REFLAMARBRMNITEIES FB A MARBMHAERU AR,
o ERIMHAEE CERXALEREAR) MEELNARERFER,

1 e
o EFEAMTHECEITRENT L, RN KEEHRERFT015 N-m
Mo (FT-Z40C1. FD-Z400]: 0.3 N-mB{T),
o BRAIREET IR, M EAHFTR,EERBITHENE,
o ERTIIARLEENMIT k.
FT-Z30. FT-Z30W(EE&NE)
<f§sﬁa%£m%ﬂa¢ >

< ﬁﬁ’fﬁ%’i%ﬁﬂﬁé’i >

= 1N TIE

N RERMGEE
3.5 mmiUT

SR SH - AR

= KM 751
M2(# &8 mm)
BT (M)
M2 x 0.4 mmEEFLIREE7 mmid b

CGE1): BARMFARRNRE.

FT-Z30E. FT-Z30EW({UE4MEY)
<1§ﬁ%ﬁ¥m§%‘fﬁff >

<1§Fﬁﬁi*ﬁ*l§-‘éﬁul§ >
B
B HE AR TR

B BERNGEE
& Cha 4mmA T
7

M2(& 10 mm)
BET(H

M2 x 0.4 mmEAFLIRET7.5 mmid.

FT-Z30H. FT-Z30HW(Tius46E)
<f§ﬂ§$ﬁ¥tﬂ,¥iﬁﬁn‘ >

<§Fﬁ*ﬁ“ﬂ?§$ﬁuﬂs’i >

M2(4€ B 10 mm)$R£T (i) B HERE TR

B,
JifE

&

5 mm M2 0.4 mm$EFLERET.S mmil e\ fﬁﬁ?’f -

FT-Z20W. FD-Z20W(IE & ZEY)
<1§FH%E?L!';§-‘ETH1 >

<1§Fﬁﬁ¢%i§%mw§ >
530}
M2(4< 8 mm)3R T (Ffi )

:I 5mm 4

B HRRE THE
Ta

= 17 5mm
N B R AL
$ 1.6 mm$LFLIRE0.6 mmid
M2 x 0.4 mm$AFLRES mmiX b

(E1):  EENFT-Z20W, FD-Z20WHREHT X bAHR
(F2): BUEAFRRHLR. RN, HERZRBTAILCMOZBILLL,

\ RERNEE
4 mmUT

FT-Z20HBW. FD-Z20HBW(T7iu# 44 7Y)

<1EFﬁ%£?L§%Z$THﬂ‘ > <§Ilﬂi%‘ﬂ%ﬁﬂﬂf§ >

M2(K 8 mm)$Z$T (i)

B HERE TRE
\

o 5mm
O~ Ergagmel b
$ 1.6 mm$EFLIRE0.6 mmiMd b
M2 x 0.4 mmEA7LIREES mmid .t
(F1): EEAFT-Z20HBW, FD-Z20HBWHIZ % AR thidfE,
(F2): BUEAXARRERR. REN. BERREETAILMOS AL
FT-Z4OW. FD-Z4OW(IEME#&ME)

M3 S 3RET
(BRTES. )

& E 4R
$TAIFL
REIRNERE
4 mmU{T

7 mm o 1T 15
B E 48
SIS
$2.5 mm#LFEE11 mmid E

(E1): EEAFT-Z4OW, FD-ZAOWHIZEFH KRR
(F2): BEUEAARRHER. REN. HERRERET AL AL,

FT-Z4OHBW. FD-Z40HBW(T7iu44 )
M35 SLi24T

$2.5 mmFLRET1 mmidE

(E1): EEAFT-Z4OHBW, FD-ZAOHBWHIZ % AR thidfE,
(¥2): BURAAREAHLR. REN. IHERREIRTAILLMOKMAILIL

FD-L12W(FR & R 5HE)

o i HATHERM2URET | EEHIHE N E0.15 N-mUAF .
o JRSi [ AT LR 1.7 mm, EE0.8 mbL L.

& 1.7 mmk7L
(RE0.8 mmd k)

TR YNSRINEEE 7 Se g
ik BAKBRFIRTAFITH1006%H
https://industry.panasonic.com/

O M TR (PE)BRAF)

HE(LE)BERESHRRK DEEESST7 8SH - REIM

[BXBEARREERE, BSHAADME,

Panasonic Industry Co., Ltd. 2024

2024 4R &17 BAREDR]



